ME)/LE Brakes

New articles August 2016

Brake pad set

Notes

Brake System
Height [mm]
Thickness [mm]
Width [mm]

References

CITROEN
PEUGEOT

Application info

CITROEN C Elyse (11/12--)
CITROEN C4 Cactus (09/14--)

Wulf Gaertner Autoparts AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.

Front Axle

MANDO

52,7

18

132,9

prepared for wear indicator

16086 913 80
16 106 992 80
16 086 913 80

PEUGEOT 301 (11/12--)
PEUGEOT 308 11 (09/13--)

0252525118



http://www.meyle.com

ME )/LE Drive train/Transmission

New articles August 2016

Drive shaft support 300 261 2701/S
Notes

Centre
Inner diameter [mm] 35

with ball bearing i,
References k
BMW 26127526632

¢

Application info

BMW 1 (E81, E82, E87, E88) (11/03-09/12) BMW 3 (E90, E91, E92, E93) (01/05-05/12)
Hydraulic filter kit, A/T 100 137 0012
Notes
Manufacturer Restriction ZF
Number of mounting bores 13
Transmission Type 6HP19
Automatic Transmission, 6-speed
Kit
References
AUDI 0AT 325429

Application info
AUDI Q7 (4L) (03/06-05/12)

Wulf Gaertner Autoparts AG - www.meyle.com 2

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

ME )/LE Electrics

New articles August 2016
ABS wheel sensor 0148000117
Notes
Rear Axle Left
Cable Length [mm] 1600
Number of Poles 2
Operating voltage [V] 12
Paired article numbers 0148000118
Required quantity 1
Hall Sensor
References
MERCEDES-BENZ 906 540 11 17
VW 2E0927 748 B
Application info
MERCEDES-BENZ BM 906 (Sprinter II) (06/06--) VW Crafter (04/06-07/11)
ABS wheel sensor 0148000120
Notes \(—1
Front Axle
Length [mm] 1002
Number of Poles 2
Operating voltage [V] 12
Required quantity 2
Hall Sensor
References
MERCEDES-BENZ 2215400317
Application info
MERCEDES-BENZ BM 216 (S-Class) (05/06--) MERCEDES-BENZ BM 221 (S-Class) (10/05-06/09)
ABS wheel sensor 0148000121
Notes
Front Axle left and right
Number of Poles 2
Operating voltage [V] 12
Required quantity 2
Hall Sensor
References
MERCEDES-BENZ 204905 79 00
Application info
MERCEDES-BENZ BM 204 (C-Class) (01/07--)
Wulf Gaertner Autoparts AG - www.meyle.com 3

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

ME )/LE Electrics

New articles August 2016

ABS wheel sensor

Notes
Left Rear
Number of Poles 2
Operating voltage [V] 12
Paired article numbers 114 800 0007

Required quantity

1

for vehicles with headlamp levelling

Inductive Sensor

114 800 0008

References
AUDI 8D0 927 807 G
Application info
AUDI A4 (8D2, 8D5, B5) (11/94-09/01)
ABS wheel sensor 114 800 0027
Notes
Rear Axle Left
Cable Length [mm] 1120
Operating voltage [V] 12

Required quantity

1
Inductive Sensor

References
VW 3B0927 807 H
Application info
VW Passat (3B_) (08/96-08/05)
ABS wheel sensor 16-14 800 0019
Notes
Rear Axle Right i,
Cable Length [mm] 1560
Number of Poles 2
Operating voltage [V] 12
Paired article numbers 16-14 8000018
Required quantity 1
for vehicles with ABS
for vehicles without ESP
Inductive Sensor
References
RENAULT 7700411746
Application info
RENAULT Clio Il / Thalia (02/98-02/10)
Wulf Gaertner Autoparts AG - www.meyle.com 4

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

MEYLE

Electrics

New articles August 2016

ABS wheel sensor

Notes

Cable Length [mm]
Operating voltage [V]
Required quantity

References
BMW

Application info
BMW 1 (E81, E82, E87, E88) (11/03-09/12)

ABS wheel sensor

Notes

Cable Length [mm]
Cable Length [mm]
Number of Poles
Operating voltage [V]
Required quantity

References
VOLVO

Application info
VOLVO C/S/V 70 (11/96-10/05)

Wulf Gaertner Autoparts AG - www.meyle.com

Rear Axle left and right
959

12

2

for vehicles with DSC
Hall Sensor

34526764610

Rear Axle left and right
1900

1255

3

12

2

Hall Sensor

9472171

314 800 0045

BMW 3 (E90, E91, E92, E93) (01/05-05/12)

514 800 0026

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

ME )/LE Electrics

New articles August 2016
Crank position sensor 100 899 0063
Notes
Cable Length [mm] 370
Fitting Depth [mm] 46
Number of Poles 3
Operating voltage [V] 12
Resistance [Ohm] 500
Inductive Sensor
References
AUDI 045957 147 C
SEAT 045957 147 C
SKODA 045957 147 C
VW 045957 147 C

Application info

AUDI A2 (820) (02/00-08/05) SKODA Roomster (03/06-03/10)
SEAT Arosa (6H) (05/97-06/04) VW Fox/Lupo Z51 (10/03--)
SEAT Ibiza IV / Cordoba (02/02-11/09) VW Lupo (09/98-07/05)
SKODA Fabia | (08/99-03/08) VW Polo (6N_) (10/94-10/01)
SKODA Fabia Il (12/06--) VW Polo (9N_) (10/01-11/09)
Wear sensor 014 527 0006
Notes
Front Axle
Required quantity 1
Warning Contact Length [mm] 100
Disc Brake i
References
MERCEDES-BENZ 23190500 14

Application info

MERCEDES-BENZ BM 222 (S-Class) (05/13--) MERCEDES-BENZ BM 231 (SL) (01/12--)
Wear sensor 314 527 0037
Notes
Front Axle Left
Required quantity 1
Warning Contact Length [mm] 665
Disc Brake
References
MINI 34356865611
Application info

MINI Mini Il (12/13--)

Wulf Gaertner Autoparts AG - www.meyle.com 6

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

ME )/LE Engine/Cooling/Clutch

New articles August 2016
Air filter 16-12 321 0021
Notes
Height [mm] 54
Length [mm] 243
Width 2 [mm] 134
Width [mm] 190
Filter Insert
References
MERCEDES-BENZ 415094 03 04
RENAULT 165462862R

Application info

MERCEDES-BENZ BM 415 (Citan) (11/12--) RENAULT Mégane Il (11/02-01/11)
RENAULT Kangoo I (02/08--) RENAULT Scénic Il (06/03-04/09)
Air filter 18-12 321 0001
Notes
Height [mm] 41,5
Length [mm] 380
Width [mm] 156
Filter Insert
References
JAGUAR C2551377
Application info
JAGUAR X-Type (06/01-12/09)
Air filter 53-12 321 0002
Notes
Height [mm] 57
Length [mm] 270
Width [mm] 182
Filter Insert
References
LAND ROVER LR005816
Application info
LAND ROVER Freelander Il (10/06--)
Wulf Gaertner Autoparts AG - www.meyle.com 7

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

ME )/LE Engine/Cooling/Clutch

New articles August 2016
Air filter 53-12321 0003
Notes
Height [mm] 59
Length [mm] 290
Width 2 [mm] 180
Width [mm] 213
Filter Insert
References
LAND ROVER LR029078

Application info

LAND ROVER Discovery Sport (09/14--) LAND ROVER Range Rover Evoque (06/11--)
LAND ROVER Freelander Il (10/06--)

Breather valve 314036 0013

Notes

with seal

References
BMW 11127799225

Application info

BMW 3 (E46) (02/98-12/07) BMW X3 (E83) (01/04-12/08)
BMW 5 (E60, E61) (07/03-08/10) BMW X5 (E53) (05/00--)
BMW 7 (E65, E66) (11/01-08/05)

Breather valve 314036 0015

Notes

with seal

References

BMW 11122249678
11127791552

Application info
BMW 3 (E46) (02/98-12/07) BMW 5 (E39) (11/95-05/04)

Wulf Gaertner Autoparts AG - www.meyle.com 8

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

ME )/LE Engine/Cooling/Clutch

New articles August 2016

Breather valve 314036 0016
Notes

with seal
References
Application info
BMW 1 (E81, E82, E87, E88) (11/03-09/12) BMW 5 (E60, E61) (07/03-08/10)
BMW 3 (E46) (02/98-12/07) BMW X3 (E83) (01/04-12/08)
BMW 3 (E90, E91, E92, E93) (01/05-05/12)
Crankshaft seal 100 103 1001
Notes

Timing End
Inner diameter [mm] 55

Metal Housing

Right-hand Twist

Sheet Steel

without mounting sleeve
References
AUDI 06E 103 153 E
PORSCHE 958101 150 10
VW 06E 103 153 E

Application info

AUDI A4 (8EC, 8ED) (11/04-06/08) AUDI A8 (4E) (10/02-07/10)

AUDI A4 (8H7) (04/02-03/09) AUDI A8 (4H_) (11/09--)

AUDI A4 (8K2, 8K5, 8KH) (11/07--) AUDI Q5 (8R) (11/08--)

AUDI A5 (8F, 8T) (06/07--) AUDI Q7 (4L) (03/06-05/12)

AUDI A6 (4F2, 4FH, 4F5) (05/04-08/11) PORSCHE Cayenne Il (06/10--)

AUDI A6 (4G2, 4G5, C7) (11/10-05/13) PORSCHE Panamera (09/09--)

AUDI A7 Sportback (4GA) (10/10--) VW Touareg (7P5) (01/10--)

Wulf Gaertner Autoparts AG - www.meyle.com 9

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

Engine/Cooling/Clutch

MEYLE

New articles August 2016

Crankshaft seal 100 103 1003
Notes
Transmission End
Inner diameter [mm] 85
Outer diameter [mm] 131
Left-hand Twist
PTFE (polytetrafluoroethylene)
Synthetic Material Housing
with mounting sleeve
References
AUDI 036103 171B
SEAT 0361031718B
SKODA 036103 171B
VW 036103 171B

Application info

AUDI A3 (8P1, 8PA) (05/03-08/12)

SEAT Ibiza IV / Cordoba (02/02-11/09)

SEAT Ibiza V (6J1, 6J5, 6J8) (03/08-06/10)

SEAT Leon / Toledo / Altea (1P1, 5P2, 5P5) (03/04-05/10)
SKODA Fabia | (08/99-03/08)

SKODA Fabia Il (12/06--)

SKODA Octavia Il (1Z_) (02/04-12/10)

SKODA Roomster (03/06-03/10)

SKODA Superb 11 (3T) (03/08-11/10)

SKODA Yeti (5L) (05/09--)

VW Caddy Il (2KA, 2KB) (03/04-08/10)
VW Eos (03/06-11/10)

VW Golf V (1K1, 1K5, 5M1) (10/03-05/09)
VW Golf VI (5K1, 517, AJ5) (10/08-11/13)
VW Jetta Ill (1K2) (08/05-10/10)

VW Passat (3C_) (03/05-10/11)

VW Polo (6R_) (06/09-01/11)

VW Polo (9N_) (10/01-11/09)

VW Tiguan (09/07-08/09)

VW Touran (171, 1T2) (02/03-05/10)

Crankshaft seal 100 103 1004
Notes
Transmission End
Inner diameter [mm] 85
Outer diameter [mm] 131
Left-hand Twist
PTFE (polytetrafluoroethylene)
Synthetic Material Housing
with mounting sleeve
References
AUDI 030103171L
SEAT 030103171L
SKODA 030103171L
vw 030103171L
Application info

AUDI A2 (8Z0) (02/00-08/05)

SEAT Ibiza IV / Cordoba (02/02-11/09)

SEAT Leon / Toledo (1M1, TM2) (04/99-06/06)
SKODA Fabia | (08/99-03/08)

VW Bora (1J2, 1J6) (10/98-05/05)

Wulf Gaertner Autoparts AG - www.meyle.com

VW Golf IV (1J1, 1J5) (08/97-06/06)

VW Lupo (09/98-07/05)

VW New Beetle (1Y7,9C1, 1C1) (01/98-10/10)
VW Polo (9N_) (10/01-11/09)

10

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

MEYLE

Engine/Cooling/Clutch

New articles August 2016

Crankshaft seal

Notes

Inner diameter [mm]
Outer diameter [mm)]

References
AUDI

Application info

AUDI A1 (8X1, 8XA) (05/10--)

AUDI A3 (8V1, 8VS, 8V7, 8PA) (04/12--)
AUDI A5 (8F, 8T) (06/07--)

AUDI Q5 (8R) (11/08--)

AUDITT (8S) (09/14--)

SEAT Leon (5F) (09/12--)

SKODA Octavia Ill (5E3/5E5) (11/12--)

Crankshaft seal

Notes

Inner diameter [mm]
Outer diameter [mm]

References
AUDI

SEAT
SKODA

VW

Application info

AUDI 80 (8C, 8G7, B4) (05/91-08/00)

AUDI A4 (8D2, 8D5, B5) (11/94-09/01)

AUDI A6 (4B, C5) (01/97-01/05)

SEAT Alhambra | (7V8, 7V9) (04/96-03/10)
SEAT Arosa (6H) (05/97-06/04)

SEAT Ibiza Il / Il / Cordoba / Inca (02/93-06/03)
SKODA Octavia | (1U_) (09/96-12/10)

VW Caddy Il (9K9, 9K9B, 9U7) (11/95-01/04)
VW Golf lll (1H1, TH5, 1E7) (08/91-06/02)

Wulf Gaertner Autoparts AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.

Transmission End

85

131

Left-hand Twist

PTFE (polytetrafluoroethylene)
Synthetic Material Housing
with mounting sleeve

04L 103 171

VW Beetle (5C1) (04/11--)

VW Caddy IV (05/15--)

VW Golf VII (08/12--)

VW Jetta IV (162) (04/10--)

VW Passat (B8) (08/14--)

VW Scirocco (137) (05/08-05/11)

Transmission End

85

131

Aluminium Housing
Cast Aluminium
Left-hand Twist

with mounting sleeve

028103 171B
068103 171F
028103 1718B
068103 171F
028103 1718B
068103 171F
028103 171B
068103 171F

VW LT Il (05/96-07/06)

VW Lupo (09/98-07/05)

VW Passat (3B_) (08/96-08/05)
VW Polo (6K_) (11/95-07/02)
VW Polo (6N_) (10/94-10/01)
VW Sharan (7M) (09/95-03/10)
VW Transporter IV (07/90-04/03)
VW Vento (11/91-09/98)

100 103 1007

100103 1011

11


http://www.meyle.com

MEYLE

Engine/Cooling/Clutch

New articles August 2016

Crankshaft seal
Notes
Transmission End
Inner diameter [mm] 85
Outer diameter [mm] 131
Aluminium Housing
Cast Aluminium
Left-hand Twist
with mounting sleeve
References
AUDI 06B103171B
SEAT 06B 1031718
SKODA 06B103171B
VW 06B103171B

Application info

AUDI A3 (8L1) (09/96-05/03)

AUDI A3 (8P1, 8PA) (05/03-08/12)

AUDI A4 (8D2, 8D5, B5) (11/94-09/01)

AUDI A4 (8E2, 8E5, B6) (10/00-12/04)

AUDI A4 (8EC, 8ED) (11/04-06/08)

AUDI A4 (8H7) (04/02-03/09)

AUDI A6 (4B, C5) (01/97-01/05)

SEAT Exeo (3R) (12/08-09/10)

SEAT Ibiza Il / Il / Cordoba / Inca (02/93-06/03)
SEAT Leon / Toledo (1M1, TM2) (04/99-06/06)
SEAT Leon / Toledo / Altea (1P1, 5P2, 5P5) (03/04-05/10)
SKODA Octavia | (1U_) (09/96-12/10)

SKODA Octavia Il (1Z_) (02/04-12/10)

Crankshaft seal
Notes
Transmission End
Inner diameter [mm] 85
Outer diameter [mm] 235
Aluminium Housing
Cast Aluminium
Left-hand Twist
with mounting sleeve
References
AUDI 078103 171L

Application info

AUDI 80 (8C, 8G7, B4) (05/91-08/00)
AUDI A4 (8D2, 8D5, B5) (11/94-09/01)
AUDI A4 (8E2, 8E5, B6) (10/00-12/04)
AUDI A4 (8H7) (04/02-03/09)

Wulf Gaertner Autoparts AG - www.meyle.com

100103 1012

VW Bora (1J2, 1J6) (10/98-05/05)

VW Caddy Il (2KA, 2KB) (03/04-08/10)
VW Eos (03/06-11/10)

VW Golf IV (1J1, 1J5) (08/97-06/06)

VW Golf V (1K1, 1K5, 5M1) (10/03-05/09)
VW Golf VI (5K1, 517, AJ5) (10/08-11/13)
VW Jetta lll (1K2) (08/05-10/10)

VW New Beetle (1Y7,9C1, 1C1) (01/98-10/10)
VW Passat (3B_) (08/96-08/05)

VW Passat (3C_) (03/05-10/11)

VW Polo (6K_) (11/95-07/02)

VW Touran (1T1, 1T2) (02/03-05/10)

100103 1013

AUDI A6 (4B, C5) (01/97-01/05)
AUDI A8 (4D2, 4D8) (03/94-09/02)
VW Passat (3B_) (08/96-08/05)

12

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

ME )/LE Engine/Cooling/Clutch

New articles August 2016

Crankshaft seal 100 103 1014

Notes

Transmission End

Inner diameter [mm] 85
Left-hand Twist
PTFE (polytetrafluoroethylene)
Synthetic Material Housing
with mounting sleeve

References
vw 032103170 A
0321031708
032103171
Application info
VW Fox/Lupo Z51 (10/03--) VW Polo (9N_) (10/01-11/09)
Engine mount 014 024 0130
Notes
Rear
Transmission End
Rubber-metal Bearing
with guide sleeve
References
MERCEDES-BENZ 906 242 00 13
906 2420513
vw 2E0 199379 A

2E0 199379 H

Application info

MERCEDES-BENZ BM 906 (Sprinter Il) (06/06--) VW Crafter (04/06-07/11)
Expansion tank 53-14 223 0001
Notes @

with filler cap

with sensor » A

_ e >

References & i <
LAND ROVER LR020367

Application info

LAND ROVER Discovery lIl (07/04-09/09) LAND ROVER Range Rover Sport (02/05--)
LAND ROVER Discovery IV (09/09--)

Wulf Gaertner Autoparts AG - www.meyle.com 13

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

ME )/LE Engine/Cooling/Clutch

New articles August 2016

Fuel filter 714323 0016

Notes

Diameter 1 [mm] 19,3
Diameter [mm] 78
Height [mm] 110

Filter Insert

References
FORD 1352443

Application info

FORD C-Max | (02/07--) FORD Mondeo IV (03/07--)
FORD Focus Il (10/03-09/08) FORD S-Max (05/06--)
FORD Galaxy Il (05/06--)

Intake hose, turbo charger 100 036 0033

Notes

References

SKODA 3B0 145828 G
VW 3B0 145828 G

Application info
SKODA Superb | (3U) (12/01-03/08) VW Passat (3B_) (08/96-08/05)

V-ribbed belt 050 004 0654

Notes

Length [mm] 654
Number of Ribs 4

References

Application info
FORD Escort V, VI, VII / Orion Ill (07/90-06/01) FORD Fiesta Ill (01/89-01/97)

Wulf Gaertner Autoparts AG - www.meyle.com 14

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

ME )/LE Engine/Cooling/Clutch

New articles August 2016
V-ribbed belt 050 006 0970
Notes
Length [mm] 970
Number of Ribs 6
References

Application info

TOYOTA Auris | (10/06-04/13) TOYOTA Yaris Il (08/05--)
TOYOTA Corolla (E12) (03/01-07/07)

Water pump 013 220 0024

Notes

with seal

References = e
MERCEDES-BENZ 640 200 04 20 ;

Application info

MERCEDES-BENZ BM 169 (A-Class) (09/04-06/12) MERCEDES-BENZ BM 245 (B-Class) (03/05-11/11)

Water pump kit + timing belt kit 651 049 9000
Notes

Length [mm] 1057

Number of belts 1

Number of Teeth 111

Pulleys contained 1

Width [mm] 17

Driven unit: camshaft
with water pump

References

Application info

OPEL Astra F (09/91-01/05) OPEL Kadett E (08/84-07/94)
OPEL Astra G / Zafira A (02/98-12/09) OPEL Vectra A (04/88-11/95)
OPEL Corsa A (09/82-03/93) OPEL Vectra B (09/95-07/03)

OPEL Corsa B/ Combo / Tigra (03/93-10/01)

Wulf Gaertner Autoparts AG - www.meyle.com 15

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

MEYLE

Steering

New articles August 2016

Axial rod

Notes

Length [mm]
Thread Measurement 1
Thread Measurement 2

References
MERCEDES-BENZ

Application info

MERCEDES-BENZ BM 210 (E-Class) (06/95-03/03)

Axial rod

Notes

Length [mm]
Thread Measurement 1
Thread Measurement 2

References

CITROEN
FIAT
PEUGEOT

Application info

CITROEN Jumper | (02/94-04/02)
CITROEN Jumper Il (02/02-06/06)
FIAT Ducato (230) (03/94-04/02)

Wulf Gaertner Autoparts AG - www.meyle.com

Reinforced Version
Front Axle Left
Front Axle Right
246

M16x1,5

M14x1,5

2103380415

Reinforced Version
Front Axle Left
Front Axle Right
315

M16x1,5

M16x1,5

14716 540 80
9945836
4018.A4

016 030 0001/HD

(D) 11-16 030 0008/HD

FIAT Ducato (244) (04/02-07/06)
PEUGEOT Boxer | (03/94-04/02)
PEUGEOT Boxer Il (04/02-09/09)

16

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

ME )/LE Steering

New articles August 2016

Axial rod (0) 11-16 031 0012/HD
Notes

Reinforced Version

Front Axle Left

Front Axle Right
Length [mm] 255 ----—:,,——r-»-m—--—h
Thread Measurement 1 M16x1,5 &
Thread Measurement 2 M16x1,5
References
CITROEN 1610976380

4001 A1

4001 E5
FIAT 1359226080
PEUGEOT 1610976380

4001 A1

4001 E4

4001 E5

Application info

CITROEN Jumper lIl (04/06--) PEUGEOT Boxer IlI (04/06--)
FIAT Ducato (250) (07/06--)

Axial rod () 11-16 031 0014/HD
Notes
Reinforced Version
Front Axle Left
Front Axle Right
Length [mm] 225 ﬂ"":"“:’W
Thread Measurement 1 M10x1 -
Thread Measurement 2 M14x1,5
References
PEUGEOT 16 08 025 380

Application info

CITROEN C4 Cactus (09/14--) PEUGEOT 208 (03/12--)
PEUGEOT 2008 (03/13--)

Wulf Gaertner Autoparts AG - www.meyle.com 17

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

MEYLE

Steering

New articles August 2016

Axial rod

Notes

Length [mm]
Thread Measurement 1
Thread Measurement 2

References

CITROEN
PEUGEOT
TOYOTA

Application info

CITROEN C1 (06/05--)
PEUGEOT 107 (06/05--)

Axial rod

Notes

Length [mm]
Manufacturer Restriction
Thread Measurement 1
Thread Measurement 2

References
SEAT

SKODA
SKODA (SVW)

VW

VW (SVW)

Application info

SEAT Ibiza IV / Cordoba (02/02-11/09)
SKODA Fabia | (08/99-03/08)

SKODA Roomster (03/06-03/10)
SKODA (SVW ) Fabia (12/08--)

Wulf Gaertner Autoparts AG - www.meyle.com

() 11-16 031 0034/HD

Reinforced Version

Front Axle Left

Front Axle Right \ _

225 T | —— ..
M14x1,5

M12x1,25

4001.33
4001.33
45500-0H010

TOYOTA Aygo (07/05-08/10)

116 031 0017/HD

Reinforced Version

Front Axle Left

Front Axle Right

el o G-
M14x1,5

M14x1,5

for vehicles with power steering

6Q0 423 803 P
6Q0 423 804 P
6Q0 423 803 P
6Q0 423 804 P
6Q0 423 803 P
6Q0 423 804 P
6Q0 423 803 P
6Q0 423 804 P
6RG423810A
6Q0 423802 E
6Q0 423 804 E

VW Fox/Lupo Z51 (10/03--)

VW Polo (9N_) (10/01-11/09)

VW (SVW) New Polo (06/06-03/12)
VW (SVW) Polo (01/02-03/06)

18

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

MEYLE

Steering

New articles August 2016

Axial rod

Notes

Length [mm]
Thread Measurement 1
Thread Measurement 2

References
MERCEDES-BENZ

VW

Application info
MERCEDES-BENZ BM 906 (Sprinter I) (06/06--)

Axial rod

Notes

Length [mm]
Thread Measurement 1
Thread Measurement 2

References
AUDI

SEAT

VW

Application info

AUDI A1 (8X1, 8XA) (05/10-)
AUDI A2 (820) (02/00-08/05)
SEAT Ibiza V (6J1, 6J5, 6J8) (03/08-06/10)

Wulf Gaertner Autoparts AG - www.meyle.com

116 031 0019/HD

Reinforced Version
Front Axle Left
Front Axle Right
400

M18x1,5

M16x1,5

906 460 01 55
906 460 00 55
2E0 713 491

VW Crafter (04/06-07/11)
116 031 0029/HD

Reinforced Version
Front Axle Left
Front Axle Right
314

M14x1,5

M14x1,5

w;m ==

6R0 423 803D
6R0 423804 D
870423803 F
820423 804 F
6R0 423 803 A
6R0 423 803 C
6R0 423 804 A
6R0 423 804 C
6R0 423 803 A
6R0423 803 C
6R0 423 803D
6R0 423 804 A
6R0 423 804 C
6R0 423804 D

SEAT TOLEDO IV (KG3) (07/12--)
SKODA Rapid Il (NH) (07/12--)
VW Polo (6R_) (06/09-01/11)

19

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

MEYLE

Steering

New articles August 2016

Axial rod

Notes

Length [mm]
Thread Measurement 1
Thread Measurement 2

References

MAZDA
RENAULT

Application info

MAZDA 2 (DE) (10/07--)
RENAULT Mégane Il (11/02-01/11)

Axial rod

Notes

Length [mm]
Thread Measurement 1
Thread Measurement 2

References
NISSAN

RENAULT

Application info
NISSAN Micra (K12) (01/03-06/10)

Wulf Gaertner Autoparts AG - www.meyle.com

Reinforced Version
Front Axle Left
Front Axle Right
215

M14x1,5

M14x1,5

D653-32-240
7701474448

Reinforced Version
Front Axle Left
Front Axle Right
309

M14x1,5

M14x1,5

48001AX702
48001AY612
48001BC43A
48001BC46A
7701475841

(0) 16-16 031 0013/HD

RENAULT Scénic Il (06/03-04/09)

(H0) 16-16 031 0033/HD

RENAULT Clio Ill / Modus (09/04-08/10)

20

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

MEYLE

Steering

New articles August 2016

Axial rod

Notes

Length [mm]
Manufacturer Restriction
Thread Measurement 1
Thread Measurement 2
References

RENAULT

Application info

RENAULT Clio Il / Thalia (02/98-02/10)

Axial rod

Notes

Length [mm]
Manufacturer Restriction
Thread Measurement 1
Thread Measurement 2
References

RENAULT

Application info

RENAULT Clio Il / Thalia (02/98-02/10)

Wulf Gaertner Autoparts AG - www.meyle.com

Reinforced Version
Front Axle Left
Front Axle Right
236

TRW

M14x1,5

M14x1,5

7701471143
7701471144

Reinforced Version
Front Axle Left
Front Axle Right
291

TRW

M14x1,5

M14x1,5

7701472734
7701472735

(0) 16-16 031 0035/HD

(0) 16-16 031 0036/HD

@: o T —

21

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

MEYLE

Steering

New articles August 2016

Axial rod

Notes

Length [mm]

Thread Measurement 1
Thread Measurement 2
References

GENERAL MOTORS
NISSAN

OPEL

RENAULT
VAUXHALL

Application info

NISSAN Primastar (03/01--)
OPEL Vivaro (08/01--)

OPEL Vivaro B (06/14--)
RENAULT Trafic | (03/80-03/01)

Axial rod

Notes

Length [mm]
Thread Measurement 1
Thread Measurement 2

References
DACIA

Application info
DACIA Duster (04/10--)

Wulf Gaertner Autoparts AG - www.meyle.com

Reinforced Version
Front Axle Left
Front Axle Right
263

M12x1

M14x1,5

91160037*
48520-00QAM
44,08 474%
7701473333
4408 474*

Reinforced Version
Front Axle Left
Front Axle Right
205

M16x1,5

M14x1,5

8201108350

(D) 16-16 031 0037/HD

RENAULT Trafic Il (03/01-07/03)
RENAULT Trafic Il (05/14--)
VAUXHALL Vivaro (08/01-12/06)
VAUXHALL Vivaro B (05/14--)

(H0) 16-16 031 0038/HD

S————

RENAULT Duster (06/09--)

22

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

MEYLE

Steering

New articles August 2016

Axial rod

Notes

Length [mm]
Thread Measurement 1
Thread Measurement 2

References
RENAULT

Application info
RENAULT Twingo Il / Wind (03/07--)
Axial rod

Notes

Length [mm]
Thread Measurement 1
Thread Measurement 2

References
FIAT

FORD

Application info
FIAT 500 (10/07--)

Wulf Gaertner Autoparts AG - www.meyle.com

Reinforced Version
Front Axle Left
Front Axle Right
300

M12x1

M14x1,5

7701477878

Reinforced Version
Front Axle Left
Front Axle Right
250

M14x1,5

M12x1,5

51786814
51786815
51875886
51875887
1541354
9S51-3A500-AA

FORD KA 11 (10/08--)

() 16-16 031 0039/HD

0) 216 031 0026/HD

23

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

ME )/LE Steering

New articles August 2016

Axial rod 0) 216031 0027/HD
Notes

Reinforced Version

Front Axle Left

Front Axle Right
Length [mm] 296 * - g - v
Thread Measurement 1 M16x1,5 g ———
Thread Measurement 2 M16x1,5

for vehicles with power steering
References
FIAT 98845026
Application info
FIAT Doblo (119, 223) (03/01-01/10)
Axial rod #0) 216031 0028/HD
Notes

Reinforced Version

Front Axle Left

Front Axle Right
Length [mm] 330 @::m-w
Thread Measurement 1 M16x1,5
Thread Measurement 2 M14x1,5
References
FIAT 98845024

Application info

FIAT Doblo (119, 223) (03/01-01/10)

Axial rod 0) 216031 0029/HD
Notes
Reinforced Version
Front Axle Left
Front Axle Right
Length [mm] 252 ‘mﬂ::»_.nm
Thread Measurement 1 M14x1,5 s 7
Thread Measurement 2 M12x1,5
References
LANCIA 51706968
51832250
51893013
77362380
Application info
LANCIA Ypsilon (843) (10/03-12/11)
Wulf Gaertner Autoparts AG - www.meyle.com 24

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

MEYLE

Steering

New articles August 2016

Axial rod

Notes

Length [mm]
Thread Measurement 1
Thread Measurement 2

References
CITROEN

FIAT
LANCIA
PEUGEOT

Application info

CITROEN Nemo (02/08--)
FIAT Croma | (12/85-12/96)
FIAT Fiorino Nuovo (11/07--)

Axial rod

Notes

Length [mm]
Thread Measurement 1
Thread Measurement 2

References
KIA

Application info
KIA Rio | (08/00-02/05)

Wulf Gaertner Autoparts AG - www.meyle.com

) 216 031 0030/HD

Reinforced Version
Front Axle Left
Front Axle Right

272 ﬂm._- o
M14x1,5

M14x1,5

4001 K6
4001 NZ
4001 PA
4001.77
9940260
9940260
4001 77
4001 K6
4001 NZ
4001 PA

FIAT Linea (06/07--)
LANCIA Thema | (11/84-07/94)
PEUGEOT Bipper (02/08--)

(0) 28-16 031 0023/HD

Reinforced Version
Front Axle Left
Front Axle Right

279 # g B ——e ]
M16x1,5

M12x1,25

KDX53 32240B

25

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

MEYLE

Steering

New articles August 2016

Axial rod (0) 28-16 031 0025/HD
Notes
Reinforced Version
Front Axle Left
Front Axle Right
Length [mm] 170
Thread Measurement 1 M18x1,5
Thread Measurement 2 M14x1,5
References
KIA 57731 3E010

Application info
KIA Sorento | (08/02--)

57732 3E010

Axial rod () 28.16 031 0026/HD
Notes
Reinforced Version
Front Axle Left
Front Axle Right
Length [mm] 290 G - 2 a
Thread Measurement 1 M16x1,5
Thread Measurement 2 M12x1,25
References
KIA 57724 07000
Application info

KIA Picanto | (04/04--)

Axial rod (A0) 30-16 031 0029/HD
Notes
Reinforced Version
Front Axle Left
Front Axle Right
Length [mm] 305 o =nmr—r——iam
Thread Measurement 1 M14x1,5
Thread Measurement 2 M16x1,5
References
TOYOTA 45503-0F010

Application info

TOYOTA Avensis (T25) (04/03-11/08) TOYOTA Corolla Verso (03/04-03/09)

Wulf Gaertner Autoparts AG - www.meyle.com 26

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

MEYLE

Steering

New articles August 2016

Axial rod

Notes

Length [mm]
Thread Measurement 1
Thread Measurement 2

References
HONDA

Application info
HONDA Accord IX (06/08-12/08)

Axial rod

Notes

Length [mm]
Thread Measurement 1
Thread Measurement 2

References
BMW

BMW (BRILLIANCE)

Application info

BMW 5 (E60, E61) (07/03-08/10)
BMW 6 (E63, E64) (01/04--)

Wulf Gaertner Autoparts AG - www.meyle.com

Reinforced Version
Front Axle Left
Front Axle Right
122

M18x1,5

M14x1,5

53010-SDA-AO01

Reinforced Version
Front Axle Left
Front Axle Right
239

M18x1,5

M16x1,5

32106777 479*
32216777 451*
32106777 479*
32216777 451*

(0) 31-16 031 0009/HD

| K

HONDA Accord VIII (02/03-12/08)

(D) 316 0310017/HD

BMW (BRILLIANCE) 5 Series (E60) (03/03-09/10)

27

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

MEYLE

Steering

New articles August 2016

Axial rod

Notes

Length [mm]
Manufacturer Restriction
Thread Measurement 1
Thread Measurement 2

References
BMW

BMW (BRILLIANCE)

Application info

BMW 1 (E81, E82, E87, E88) (11/03-09/12)
BMW 3 (E90, E91, E92, E93) (01/05-05/12)

Axial rod

Notes

Length [mm]
Thread Measurement 1
Thread Measurement 2

References
MAZDA

Application info
MAZDA MX-5 (NC) (03/05--)

Axial rod

Notes

Length [mm]
Thread Measurement 1
Thread Measurement 2

References
MAZDA

Application info
MAZDA MX-5 (NC) (03/05--)

Wulf Gaertner Autoparts AG - www.meyle.com

Reinforced Version
Front Axle Left
Front Axle Right
246

TRW

M18x1,5

M14x1,5

32216762243
32216762244
32216762243
32216762 244*

Front Axle Left
Front Axle Right
234,5

16x1

14x1,5

NE51-32 240

Reinforced Version
Front Axle Left
Front Axle Right
234,5

16x1

14x1,5

NE51-32 240

D) 316031 0018/HD

Ps====

BMW X1 (E84) (03/09--)
BMW (BRILLIANCE) 3 Series (E90) (01/05-09/12)

35-16 031 0004

(h0) 35.16 031 0029/HD

28

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

MEYLE

Steering

New articles August 2016

Axial rod

Notes

Length [mm]
Thread Measurement 1
Thread Measurement 2

References
NISSAN

RENAULT

Application info

NISSAN Qashqai | (02/07--)
NISSAN X-Trail (T31) (03/07--)

Axial rod

Notes

Length [mm]
Thread Measurement 1
Thread Measurement 2

References
HYUNDAI

Application info
HYUNDAI ix35 (08/09--)

Axial rod

Notes

Length [mm]
Thread Measurement 1
Thread Measurement 2

References
HYUNDAI

Application info
HYUNDAI {10 (12/07--)

Wulf Gaertner Autoparts AG - www.meyle.com

Reinforced Version
Front Axle Left
Front Axle Right
233

M22x1,5

M14x1,5

48001-JD900
D8521-JD00B
485219204R

Reinforced Version
Front Axle Left
Front Axle Right
173

M16x1,5

M16x1,5

57724-25000

Reinforced Version
Front Axle Left
Front Axle Right
300

M16x1,5

M12x1,25

57724-0X000

(D) 36-16 031 0020/HD

i,

————

ﬂ - -

RENAULT Koleos (09/08--)

() 37-16 031 0020/HD

e D

() 37.16 031 0021/HD

@1 e —

29

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

MEYLE

Steering

New articles August 2016

Axial rod

Notes

Length [mm]
Thread Measurement 1
Thread Measurement 2

References

CITROEN
PEUGEOT

Application info

CITROEN C2/ C3 1/ Pluriel (02/02-09/05)

Axial rod

Notes

Length [mm]
Thread Measurement 1
Thread Measurement 2

References

CITROEN
PEUGEOT

Application info
CITROEN C Elyse (11/12--)

Axial rod

Notes

Length [mm]
Thread Measurement 1
Thread Measurement 2

References
CHRYSLER

Application info
CHRYSLER Neon Il (08/99-12/06)

Wulf Gaertner Autoparts AG - www.meyle.com

Front Axle Left
Front Axle Right
238,5

M12x1

M16x1,5

3812.E6
3812.E6

Reinforced Version
Front Axle Left
Front Axle Right
230,5

M12x1

M16x1,5

16 08 652 180
1608 652 180

Reinforced Version
Front Axle Left
Front Axle Right
289,5

M14x1,5

M14X1,5

5272500AE*

(0) 40-16 031 0000/HD

A )

PEUGEOT 1007 (04/05--)

(0) 40-16 031 0001/HD

o<

PEUGEOT 301 (11/12-)

(A0) 44-16 031 0002/HD

IG;::.-.L.._::.:E'.%_

CHRYSLER PT Cruiser (06/00-12/10)

30

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

MEYLE

Steering

New articles August 2016

Axial rod

Notes

Length [mm]
Thread Measurement 1
Thread Measurement 2

References

FORD
VOLVO

Application info

FORD C-Max | (02/07--)
FORD Focus Il (10/03-09/08)
FORD Kuga (03/08--)

Axial rod

Notes

Length [mm]

Paired article numbers
Thread Measurement 1
Thread Measurement 2

References
LAND ROVER

Application info
LAND ROVER Discovery lIl (07/04-09/09)

Axial rod

Notes

Length [mm]

Paired article numbers
Thread Measurement 1
Thread Measurement 2

References
LAND ROVER

Application info
LAND ROVER Discovery Il (07/04-09/09)

Wulf Gaertner Autoparts AG - www.meyle.com

Reinforced Version
Front Axle Left
Front Axle Right
294

M14x1,5

M16x1,5

1510270
31201817

Reinforced Version
Front Axle

inner

375

53-16 031 0006/HD
M20x1,5

M16x1,5

QFK500020

Reinforced Version
Front Axle

inner

375

53-16 031 0005/HD
M16x1,5

M16x1,5

QFK500010

0) 516031 0004/HD

*;.m.._-_.ag_u._n.gh-

VOLVO C30 (10/06-12/12)
VOLVO C70 11 (03/06--)
VOLVO S4011/V50 (01/04--)

(0) 53-16 031 0005/HD

cﬂ‘,_...,,u..&_‘.,ﬁ. — ]

LAND ROVER Discovery IV (09/09--)

() 53.16 031 0006/HD

@._--—w-““_ S

LAND ROVER Discovery IV (09/09--)

31

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

ME )/LE Steering

New articles August 2016
Axial rod 0) 616031 0031/HD
Notes
Reinforced Version
Front Axle Left
Front Axle Right
Length [mm] 293 o = h
Thread Measurement 1 M14x1,5
Thread Measurement 2 M14x1,5
References
GENERAL MOTORS 93189022
93196540
OPEL 16 03 543
16 09 456
VAUXHALL 16 03 543
16 09 456
Application info
ALFA ROMEO Mito (09/08--) OPEL Corsa D (07/06--)
FIAT Grande Punto (10/05-07/12) VAUXHALL Combo Mk 1l (07/06--)
FIAT Punto Evo (07/08-03/12) VAUXHALL Corsa Mk Il (07/06-03/12)
Axial rod #0) 616 031 0032/HD
Notes
Reinforced Version
Front Axle Left
Front Axle Right _
Length [mm] 350 e )
Thread Measurement 1 M16x1,5
Thread Measurement 2 M14x1,5
for vehicles with hydraulic power steering
References
CHEVROLET 95932789
GENERAL MOTORS 95932789
OPEL 16 09 205
VAUXHALL 16 09 205
Application info
CHEVROLET Trax (12/12--) VAUXHALL Mokka (06/12--)
OPEL Mokka (06/12--)
Wulf Gaertner Autoparts AG - www.meyle.com 32

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

MEYLE

Steering

New articles August 2016

Axial rod 0) 616031 0033/HD
Notes
Reinforced Version
Front Axle Left
Front Axle Right
Length [mm] 290 4 Sl SN/ A | I
Thread Measurement 1 M14x1,5 @!— = *
Thread Measurement 2 M14X1,5
References
OPEL 16 09 211
VAUXHALL 1609 211

Application info

OPEL Adam (10/12--)
OPEL Corsa E (09/14--)

VAUXHALL Adam (10/12--)
VAUXHALL Corsa Mk IV (08/14--)

Axial rod (0) 616 031 0034/HD
Notes

Reinforced Version

Front Axle Left

Front Axle Right
Length [mm] 284 N B O O 0 |

T IT—JH'P—*_-_-

Thread Measurement 1 M18x1,5 1""—'@"'- e
Thread Measurement 2 M14x1,5
References
GENERAL MOTORS 93187434

93191672
OPEL 1603 384

1603416
VAUXHALL 16 03 384

1603416
Application info
FIAT Croma Il (06/05--) VAUXHALL Vectra Mk Il / Signum (01/00-10/08)
OPEL Vectra C/ Signum (04/02-09/08)
Wulf Gaertner Autoparts AG - www.meyle.com 33

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

ME )/LE Steering

New articles August 2016

Axial rod #0) 616031 0035/HD
Notes

Reinforced Version

Front Axle Left

Front Axle Right
Length [mm] 289 @“mr T D
Thread Measurement 1 M18x1,5
Thread Measurement 2 M14x1,5
References
GENERAL MOTORS 93187435
OPEL 16 03 290
VAUXHALL 16 03 290
Application info
OPEL Vectra C/ Signum (04/02-09/08) VAUXHALL Vectra Mk Il / Signum (01/00-10/08)
Axial rod #0) 616 031 0036/HD
Notes

Reinforced Version

Front Axle Left

Front Axle Right
Length [mm] 308 @:Wm-w-ﬁh
Thread Measurement 1 M18x1,5
Thread Measurement 2 M16x1,5
References
BUICK (SGM) 13271996
GENERAL MOTORS 13271996
OPEL 66 06 030
VAUXHALL 66 06 030
Application info
BUICK (SGM) Regal Il (12/08--) VAUXHALL Insigna (07/08-09/13)
OPEL Insignia (07/08--)
Wulf Gaertner Autoparts AG - www.meyle.com 34

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

MEYLE

Steering

New articles August 2016

Axial rod

Notes

Length [mm]
Thread Measurement 1
Thread Measurement 2

References

CHEVROLET
GENERAL MOTORS
OPEL

VAUXHALL

Application info

CHEVROLET Cruze (J300, J305) (07/00-09/08)
CHEVROLET Cruze (J308) (08/12--)

Axial rod

Notes

Length [mm]
Thread Measurement 1
Thread Measurement 2

References
FORD

MAZDA

Application info

FORD B-MAX (10/12--)
FORD Fiesta VI (06/08--)
FORD Tourneo (12/12--)

Wulf Gaertner Autoparts AG - www.meyle.com

Reinforced Version
Front Axle Left
Front Axle Right
290

M16x1,5

M16x1,5

0) 616 0310037/HD

-
—
" e

for vehicles with electro-hydraulic steering

13278358
13278358
920005
920007
920005
920007

Reinforced Version
Front Axle Left
Front Axle Right
289

M14x1,5

M14x1,5

1545 457
8V51-3L519-AA
D651-32-240

OPEL Astra J (12/09--)
VAUXHALL Astra Mk VI (12/09--)

(0) 716 031 0016/HD

FORD Transit Courier (02/14--)
MAZDA 2 (DE) (10/07--)

35

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

ME )/LE Steering

New articles August 2016
Axial rod #0) 716031 0017/HD
Notes
Reinforced Version
Front Axle Left
Front Axle Right
Length [mm] 289 @MAMJ/M_
Thread Measurement 1 M14x1,5
Thread Measurement 2 M16x1,5
References
FORD 1780104
AV6C-3L519-AA
1714484
AV6C-3L519-BA
VOLVO 31317779
Application info
FORD C-Max Il (12/10--) FORD Tourneo (12/12--)
FORD Focus Il (04/11--) FORD Transit 13 (09/13--)
FORD Kuga Il (01/13--) VOLVO V40 11 (03/12--)
Axial rod ) 716031 0018/HD
Notes
Reinforced Version
Front Axle Left
Front Axle Right
Length [mm] 292 ngm
Thread Measurement 1 M14x1,5
Thread Measurement 2 M16x1,5
References
FORD 1251937
1377 655
VOLVO 30776283
Application info
FORD C-Max | (02/07--) VOLVO C30 (10/06-12/12)
FORD Focus Il (10/03-09/08) VOLVO C70 11 (03/06--)
FORD Kuga (03/08--) VOLVO S40 11/ V50 (01/04--)
Wulf Gaertner Autoparts AG - www.meyle.com 36

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

MEYLE

Steering

New articles August 2016

Axial rod

Notes

Length [mm]
Thread Measurement 1
Thread Measurement 2

References
FORD

Application info
FORD Focus Il (04/11--)

Axial rod

Notes

Length [mm]

Thread Measurement 1
Thread Measurement 2
References

FORD

Application info

FORD Tourneo (12/12--)
FORD Transit 14 (05/14--)

Tierod end

Notes

Length [mm]

Paired article numbers
Thread Measurement 1
Thread Measurement 2

References

AUDI
SEAT
SKODA
VW

Application info

AUDI A1 (8X1, 8XA) (05/10-)
SEAT Ibiza V (6J1, 6J5, 6J8) (03/08-06/10)
SEAT TOLEDO IV (KG3) (07/12--)

Wulf Gaertner Autoparts AG - www.meyle.com

#0) 716 031 0019/HD

Reinforced Version

Front Axle Left

Front Axle Right

300

M14x1,5

M16x1,5

for vehicles with hydraulic power steering

T T

1754076

() 716 031 0020/HD

Reinforced Version

Front Axle Left

Front Axle Right

382 @.: , . Pr—
M16x1,5

M16X1,5

1763991

FORD Transit Custom (12/12--)

116 020 0009

Front Axle Left
94

116 0200010
M12X1,5
M14x1,5

6C0423811A
6C0423811A
6C0423811A
6C0423811A

SKODA Fabia 1l (08/14--)
SKODA Rapid Il (NH) (07/12--)
VW Polo (6R_) (06/09-01/11)

37

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

MEYLE

Steering

New articles August 2016

Tierod end

Notes

Front Axle Right
Length [mm] 94
Paired article numbers 116 020 0009
Thread Measurement 1 M12x1,5
Thread Measurement 2 M14x1,5
References
SEAT 6C0423812A
SKODA 6C0423812A
VW 6C0423812A

Application info

AUDI A1 (8X1, 8XA) (05/10--)
SEAT Ibiza V (6J1, 6J5, 6J8) (03/08-06/10)
SEAT TOLEDO IV (KG3) (07/12--)

Tierod end

Notes
Reinforced Version
Front Axle Right
Length [mm] 94
Paired article numbers 116 020 0041/HD
Thread Measurement 1 M12x1,5
Thread Measurement 2 M14x1,5
References
SEAT 6Q0423812C
6R0 423 812
SKODA 6Q0423812C
6R0 423 812
SKODA (SVW) 6R0 423 812
VW 6Q0423812C
6R0 423 812
VW (FAW) 6Q0423812C
VW (SVW) 6R0 423 812
Application info

SEAT Ibiza IV / Cordoba (02/02-11/09)
SEAT Ibiza V (6J1, 6J5, 6J8) (03/08-06/10)
SEAT TOLEDO IV (KG3) (07/12--)

SKODA Fabia | (08/99-03/08)

SKODA Fabia Il (12/06--)

SKODA Rapid Il (NH) (07/12--)

SKODA Roomster (03/06-03/10)

SKODA (SVW ) Fabia (12/08--)

Wulf Gaertner Autoparts AG - www.meyle.com

116 020 0010

SKODA Fabia Ill (08/14--)
SKODA Rapid Il (NH) (07/12--)
VW Polo (6R_) (06/09-01/11)

116 020 0040/HD

T

_

SKODA (SVW) Rapid (Na2) (04/13--)
VW Fox/Lupo Z51 (10/03--)

VW Polo (6R_) (06/09-01/11)

VW Polo (9N_) (10/01-11/09)

VW (FAW) Jetta Night (03/13--)

VW (SVW) New Polo (06/06-03/12)
VW (SVW) Polo (01/02-03/06)

VW (SVW) Santana lll (12/12--)

38

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

MEYLE

Steering

New articles August 2016

Tierod end

Notes

Length [mm]

Paired article numbers
Thread Measurement 1
Thread Measurement 2

References

AUDI
VW

Application info
AUDI A1 (8X1, 8XA) (05/10-)

Tierod end

Notes

Length [mm]

Paired article numbers
Thread Measurement 1
Thread Measurement 2

References

AUDI
VW

Application info
AUDI A1 (8X1, 8XA) (05/10--)

Tierod end

Notes

Length [mm]

Paired article numbers
Thread Measurement 1
Thread Measurement 2
References

AUDI
VW

Application info
AUDI A1 (8X1, 8XA) (05/10--)

Wulf Gaertner Autoparts AG - www.meyle.com

Front Axle Right
Outer

94

116 020 0043
M12x1.5
M14x1.5

6R0423812A
6R0423812A

Reinforced Version
Front Axle Right
Outer

94

116 020 0043/HD
M12x1.5

M14x1.5

6R0423812A
6R0423812A

Front Axle Left
Outer

94

116 020 0042
M12x1.5
M14x1.5

6R0423811A
6R0423811A

116 020 0042

VW Polo (6R_) (06/09-01/11)

116 020 0042/HD

VW Polo (6R_) (06/09-01/11)

116 020 0043

VW Polo (6R_) (06/09-01/11)

39

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

ME )/LE Steering

New articles August 2016

Tie rod end 116 020 0043/HD
Notes

Reinforced Version

Front Axle Left

Outer
Length [mm] 94
Paired article numbers 116 020 0042/HD
Thread Measurement 1 M12x1.5
Thread Measurement 2 M14x1.5
References
AUDI 6R0423811A
VW 6R0423811A
Application info
AUDI A1 (8X1, 8XA) (05/10--) VW Polo (6R_) (06/09-01/11)
Wulf Gaertner Autoparts AG - www.meyle.com 40

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

MEYLE

Suspension

New articles August 2016

Control arm

Notes

Paired article numbers

References

SKODA
VW

Application info

SKODA Octavia Il (1Z_) (02/04-12/10)
SKODA Superb |1 (3T) (03/08-11/10)
SKODA Yeti (5L) (05/09--)

Control arm

Notes

Paired article numbers

References

SKODA
VW

Application info

SKODA Octavia Il (1Z_) (02/04-12/10)
SKODA Superb II (3T) (03/08-11/10)
SKODA Yeti (5L) (05/09--)

Wulf Gaertner Autoparts AG - www.meyle.com

Front Axle Left

116 0500119

Control Arm

Sheet Steel

with ball joint

with rubber mounting

1K0 407 151 BG
1K0 407 151 BG

Front Axle Right
1160500118

Control Arm

Sheet Steel

with ball joint

with rubber mounting

1K0 407 152 BG
1K0 407 152 BG

116 0500118

VW Caddy IIl (2KA, 2KB) (03/04-08/10)
VW Caddy IV (05/15--)

116 0500119

@),

VW Caddy IIl (2KA, 2KB) (03/04-08/10)
VW Caddy IV (05/15--)

41

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

MEYLE

Suspension

New articles August 2016

Control arm bushing

Notes

Height [mm]
Inner diameter [mm]
Outer diameter [mm]

References

CITROEN
PEUGEOT

Application info

CITROEN C4 Grand Picasso Il (09/13--)

CITROEN C4 11 / DS4 (11/09--)

Control arm bushing

Notes

Height [mm]
Inner diameter [mm]
Outer diameter [mm]

References
BMW

Application info

BMW 5 (F07) (10/09-12/10)
BMW 5 (F10, F11) (03/10-12/11)

Shock absorber

Notes

References
PEUGEOT

Application info
PEUGEOT 407 (05/04-12/09)

Wulf Gaertner Autoparts AG - www.meyle.com

Front

Front Axle Left
Front Axle Right
Lower

59,5

14

43

96 760 321 80
96 760 321 80

Front Axle Left
Front Axle Right
80

14

70

Hydro Bearing

31126777 653

Front Axle
Bottom eye
Gas Pressure
Top pin
Twin-Tube

5202.PA

11-14610 0037

PEUGEOT 308 11 (09/13--)

314610 0027

BMW 6 (F12,F13) (11/10-12/12)
BMW 7 (FO1, FO2, FO3, FO4) (06/08--)

11-26 625 0000

42

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

MEYLE

Suspension

New articles August 2016

Strut mount

Notes

References
BMW

Application info
BMW X5 (E53) (05/00--)

Wheel hub
Notes

Rim Hole Number

References
HYUNDAI

Application info

HYUNDAI Tucson | (08/04-03/10)
KIA Sportage | (04/94-08/04)

Wulf Gaertner Autoparts AG - www.meyle.com

Front Axle

Piece

Rubber-metal Bearing
without ball bearing

31306779604

Rear Axle left and right
5

with wheel studs
without accessories
without wheel bearing

52710-2E500

3146410010

37-14752 0012

KIA Sportage Il (09/04--)

43

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

